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Section Marks : 80

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 1 Question Id : 5447341281 Display Question Number : Yes Is Question
Mandatory : No

LetA=1{1,23,4,5,6 } Number of functions ‘f" from A to A such that f(m) + f(n) =7
wheneverm+n=71is

A=1{1,23456]6dmndrosus m+n: ?!ﬂﬂﬂé"@ﬁ&f{mﬁﬂu} ?whﬁ

T

AR0oG A o f Danalre Do

Options :
1 % 525

, » 216

Question Number : 2 Question Id : 5447341282 Display Question Number : Yes Is Question
Mandatory : No
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Let A be the set of all 3 x 3 scalar matrices with real entries, If £: A = R is defined by f(m) =
det(m) ¥ m € A, then 'f" 1s

TR RoD[LL AP (0 Vo] Ardsy AAY A T AR fid =R & f(m) =
det(m) ¥ m € 4 e 600N ey f* Ddoaan

Options:
One — one but not onto

O3S0 S0 VodDHan S
1, %

Onto but not one — one

- RofRan S°R) ¢S T

Bijective

3 o OORER

MNeither one — one nor onto

4w !32555:.1.1:-, RoffRdu Betr 5°a)

Question Number : 3 Question Id : 5447341283 Display Question Number : Yes Is Question
Mandatory : No

. G g 10730
The inverse of the function y = =% —x 15
107+ 10
10— 10"
§ = — — HdoairDd, D6°H HIooian 67
107 + 10
Options :

1I 1+x
T‘]gln( )
1w = 1—x
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< logyg (ﬁ :)

Question Number : 4 Question Id : 5447341284 Display Question Number : Yes Is Question
Mandatory : No

Foralln €N, (n+24)(n+ 25)(n+ 26)(n+ 27) 15 divisible by
nENewod (n+24)(n+ 25+ 26)(n+27) s :ﬂnﬂ.)ﬁ @ erfodeitoducd

Options :
27

1. =
26
29
24

Question Number : 5 Question Id : 5447341285 Display Question Number : Yes Is Question
Mandatory : No
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I A and B are two square matrices with det A = 5 and det (B".A") = —15. then det B is equal to

A 2oBain B 3 oo rdgen. detA = 5 Zodakw det (BT.AT) = —15 wond det B dewvsd

Options :
1. = 3

2. ¢ —3

Question Number : 6 Question Id : 5447341286 Display Question Number : Yes Is Question
Mandatory : No

0 0
k k—1|thend, +4, +-+4,,=

1
£4,= (0
0 k=1 Kk

1 0 0
A=10 k k—1|wond A +4, ++4,,=
0 k-1 k

Options :

= 200

400
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Question Number : 7 Question Id : 5447341287 Display Question Number : Yes Is Question
Mandatory : No

=X X &
The values of ‘x* for which the givenmatrix | 2 ¥ —x | will be non-singular are
¥ =R =
-x x 2
2y —x |08 oroe Aras eond, ‘v Dend Jded?
r =2 =2
Options :

_F D

1. = A

For all x other than 2 and -2

- 2 Soboiw —Ewm;ﬁ::ﬁ'\'ﬂﬁnﬁamhim

Question Number : 8 Question Id : 5447341288 Display Question Number : Yes Is Question
Mandatory : No
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If a, b, ¢ are real numbers such that a® + b* 4+ ¢* — ab — be — ac < 0. then

(a—b+1)° e e? —a?
% U L S T . (. I
al® — pi% B -V (c—a+3)8

ﬂz+bz+fz—ﬂb—h{'—ﬂfiﬂﬂﬁi{5ﬂ“ a,b,c TR Dop{ew LAND

(a—b+1)® b —¢ ¢ —a’
ﬂ'”‘—[.'lil [b_f‘l" 2':3 {‘la—ﬂla =
”_15 — bli .[ll? _{‘1:" |:1"." —a+ 311

Options:

1 = 2abc

Question Number : 9 Question Id : 5447341289 Display Question Number : Yes Is Question
Mandatory : No

i x ¥y .
Ifa=  b=——&c= —where ¥, v,z are not all zero, then what 1s the value of
y-z X -y
ab+ be4ca=1?
X vV I
€, 7,2 0 00y AT ) TR, = h=—&c= —wdab+bctra=
' LD D y-i = x-y

Options :
1. ® 0
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Question Number : 10 Question Id : 5447341290 Display Question Number : Yes Is Question
Mandatory : No

Define f:C — R by f(z) = |z| ¥ z € C, Then which of the following 15 false?
f:C— R 2dairdy Yz EC f(2) = |z] ™ 60D € S0t T66" D6 LD

Options:
- fl-z)=f(z) VzeC

f(E)=flz) ¥zEC

 fE=(f) vzec

Question Number : 11 Question Id : 5447341291 Display Question Number : Yes Is Question
Mandatory : No
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-
i

The value nf[ = (4)35 { 15

i

- 2
[:‘” = (Tl}ﬂ} Densd Docd?

Options :

i
1.w <t

Question Number : 12 Question Id : 5447341292 Display Question Number : Yes Is Question
Mandatory : No

P RO
If n is a positive integer. then (1 + iv3) +(1—iy3) =

i

NS G Yroresnd. (1+ I'ugjlr[ +(1-iV3) =

Options :

rnmn

—1
2" cos

1, % 3
T

n
2 cos—

anitl T
2 o
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Question Number : 13 Question Id : 5447341293 Display Question Number : Yes Is Question
Mandatory : No

ik ik
Let 1, w, ” be the cube roots of unity. What is the value of (1~ w+ w ') =2(1+ w=-w"') =?

=y 4y 4
Lo’ 039 T'awg, 3%regd, (1- ot o) -2(1+ 0- 0™) dewd dod]

Options :

1. % —64

64 w
64wt

64wt

Question Number : 14 Question Id : 5447341294 Display Question Number : Yes Is Question
Mandatory : No

Let m and n be two integers such that 0 < m < 10 and 0 < n < 10. Then the number of

ordered pairs (m, n) such that x* + mx + n = 0 has real roots is

0<m< 10 28w 0 < n < 10 dobaros §'ad éed m,n PJTosUD 4y +
n =0 oD dareren goier (m,n) 53)&:’11:“"&113 ﬂﬂl

Options :

% 71
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Question Number : 15 Question Id : 5447341295 Display Question Number : Yes Is Question
Mandatory : No

The solution of the equation 21* — x* — 22x — 24 = 0 when two of the roots are in the ration 3 : 4
20% = f = 22y = 24 = 0 56 Aarerus’ o Axreren 3 : 4 i 36 G0, & ureren DD?

Options :

I-.ili'i..'.‘

I‘JlL!L_.
| %]
I-JIUI

Question Number : 16 Question Id : 5447341296 Display Question Number : Yes Is Question
Mandatory : No
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If the roots of the equation x* — ax® + bx — ¢ = 0 are in HP. then the mean of the roots is

3 = ax? 4 by = ¢ = 0 pNg0rds Areren HP & éof), Surery Hob

Options :
a

3c

Question Number : 17 Question Id : 5447341297 Display Question Number : Yes Is Question
Mandatory : No

I x* + px 4+ 1 1s a factor of ax> + bx + ¢, then

ax® 4+ by + ¢ € x* 4 pr + 1 a8 SOmressoand.

Options :

_— a’ +¢* =—ab
2 N

, & & —€= ab

3 @ @ —c* =ab

r 2
a +¢ =ab
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Question Number : 18 Question Id : 5447341298 Display Question Number : Yes Is Question
Mandatory : No

The value of ?Fg —3 [EF:j 1s equal to
Py —3(°P,) Dens® HAFIHE

Options:

?PE

o0

240

Question Number : 19 Question Id : 5447341299 Display Question Number : Yes Is Question
Mandatory : No

The number of ways m whach ‘n” distinct objects can be put mto two dufferent boxes 1s
Bott) b B DOLE". ‘0’ DG S0P D) GSANVT Gotdrivw

Options :

n PE
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HEE

nin—1)(n - 2)

4, %

Question Number : 20 Question Id : 5447341300 Display Question Number : Yes Is Question
Mandatory : No

A student has to answer 10 out of 13 questions in an examination. The number of ways in
which he can answer 1f he must answer atleast 3 of the first five questions 15

28 HbLS" s :an-ég 13 %) 0610 63 Darede TabsTR. 2068 5 HE)© Dol
D00 3 Sraotiotir 2dan 10 D)0 DAFTTL T DT Vod)

Options:
376

1. %

, 276

5 % 286

4 % 386

Question Number : 21 Question Id : 5447341301 Display Question Number : Yes Is Question
Mandatory : No
x __ Bx+C A
f - = +
(1+x2)(3-2x) 14x2 3-2x

.then *C’" 1s

x __ Bx+C A
(1+x2)(3-2x)  1+x2 ) 3-2x

BoLd ‘07 L
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Options :

2

1.% 3

Question Number : 22 Question Id : 5447341302 Display Question Number : Yes Is Question
Mandatory : No

. T .
In a triangle ABC. suppose none on the angles are multiples of ~ then what is the value

cotAcotB +cotBeotC +cotdcotl =

T
LAV X Baly, — = cot A cot coto cotl -
Sz’ 9 s.bé‘ a0 - aang), Wessn g¥a cotAcotB +cotBeotC

cot A cotC odend

Options :

1% =
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Question Number : 23 Question Id : 5447341303 Display Question Number : Yes Is Question
Mandatory : No

’ 180° o _ _
Ha= then 3 sina — 4 sin® & 1s equal to

7

180°
a =—— o008 3sina — 4s5in’ a £ BIATHHE

Options:

1 = cos 4a

5 o Sinda

Question Number : 24 Question Id : 5447341304 Display Question Number : Yes Is Question
Mandatory : No

The larger of cos(log #) and log(cos @) if e ™2 < 8 < /2 is
e ™2 = § < /2 ewand cos(logf) 2daiw loglros §) wes’ D8 DE67?

Options:

" cos(log @)
log(cos &)
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None of function is larger
& DAL DSG ST

Omne of the two function 15 undetmed on domam even to compare
De 08, 28 DA00DAD BB HDBFSD DE(Dotsecdnd

Question Number : 25 Question Id : 5447341305 Display Question Number : Yes Is Question
Mandatory : No

Which of the following expression is always true?
& So8 donswedd” D8 Dasw?

Options :

x
cosh— =
=
st

x 2sinhx
tanh | — | = —mm
2

5 % coshx +1
- (..!u:' ) sinh x
«inn { — —_— -
y 2 W 2{coshx + 1)
3. %
_ x\ _ sinh x
sinh|— | = = ]
4% 2 Jalcoshx—1)

Question Number : 26 Question Id : 5447341306 Display Question Number : Yes Is Question
Mandatory : No
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In any A ABC. b*sin 2€ + c* sinB =
ABC zoas08" b sin2C + c%sinB =

Options :
A

1. %

24

3A

4A

Question Number : 27 Question Id : 5447341307 Display Question Number : Yes Is Question
Mandatory : No

Number of triangles in which tan A + tan B + tanC = cot4 4 cot B + cot € is
Azardd tand +tanB + tanC = cotA + cot B+ cot ( Uﬁi}igv“ gol: OZbarv Qo3
Options:

’I.“l

Infinite

> % Baoodo

AP EAPCET 2021



AP EAPCET 2021

Question Number : 28 Question Id : 5447341308 Display Question Number : Yes Is Question
Mandatory : No

D —]

If PQ +QR = (24> —5)RP then A =

PQ +QR = (24 —5)RP wana i =

Options :
+1

Question Number : 29 Question Id : 5447341309 Display Question Number : Yes Is Question
Mandatory : No

If ‘C" is the midpoint of line segment AR and ‘P’ is any point not on the line AB. then
AB Bar 906w p ‘L 26( Dotdi. AB dap €2 33T Dedod) P wowd,

Options :

AP EAPCET 2021



AP EAPCET 2021

Question Number : 30 Question Id : 5447341310 Display Question Number : Yes Is Question
Mandatory : No

ks . — e
[f°6" 1s the angle between the umt vectors a and b . then Si=1is equal to

- e
@ 00cin b 3 clrdd RO G| Eran ‘6" eond, SHL— & RATAG

Options :

1 -y

Question Number : 31 Question Id : 5447341311 Display Question Number : Yes Is Question

Mandatory : No

=

The vector a lies in the plane of vectors b and c. then

b 208080 T o dwands' 1wt 207 wand

Options:

- [@ b 7]
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, [@ b T]=b T

L [ ©]=0
abt]l=-1

an lTRF]

Question Number : 32 Question Id : 5447341312 Display Question Number : Yes Is Question

Mandatory : No

a and b are umt vectors such thara + 2b 1s also a unit vector. If 6 is the angle between o’

and b . then sin@ + cos® 8 +tan® 8 =

@+ 2b ke A6 eaber @, beo ahrAE HA%w S0ak T, b e Snaw 6

oo sinfl + cos® 0 + tan” fl =

Options :

Question Number : 33 Question Id : 5447341313 Display Question Number : Yes Is Question

Mandatory : No
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Ifa,b,c are non-zero vectorssuch@ b =t and b 7T =a.thena X ¢ is

7,b,7 03D ard@c 268w, @ x b =7 boww b X7 = T edbibbued T X T 63
Options :

Equal to b

—

b €5 Dardan

1. %

Parallel to b

b 85 RATedEIw
2. ¢

Perpendicular to b

—

Bhbs.aum:m

Parallel to a

4 % a 5 DArodGaL

Question Number : 34 Question Id : 5447341314 Display Question Number : Yes Is Question
Mandatory : No

Consider the vectors

w=ai+bj+ckv= i+ sz tctkw=ali+ b*j + ¢’ k. These vectors are coplanar if
and only if

w=ai+bhj+ckv=a’i+b%+ctkw=a’i + b4k oD pbiw odairen
s Tvoll

Options:

All a, b and ¢ are equal
a, b S08cin ¢ e DATFHAW

1. %
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One of a, b and ¢ 1s zero
a,b 2obaiy ¢ v’ DE 2,58 BP0 B

Any two of a, b and ¢ are equal
a, b 208cdn ¢ 0 DT Botdy HATHIAD

Either one of a, b and ¢ is zero. or any two of a, b and ¢ are equal
a,b, c 0&° 50 AFIEN T T DRI Tty RATIA T BHTAW

Question Number : 35 Question Id : 5447341315 Display Question Number : Yes Is Question
Mandatory : No

The mean marks of 25 boys i a class 15 61 and the mean marks of 35 girls m the same class 1s

58. Then the mean of all 60 students 15

28 B6AaS ebd 25 BET, 000 ardy) v ﬁumigm 61, 200adw 35 e Uﬂ:‘éﬂnu
S0 BeSEEN 58 Lo & 3610 &' WA :)c_r,ggm SEENaI R

Options:

. % 56.25

, v 59.25

, x 57.25

, % 63.25

Question Number : 36 Question Id : 5447341316 Display Question Number : Yes Is Question
Mandatory : No
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The arithmetic mean of five natural numbers 1s 40. The largest exceeds the smallest number by 10.
If @ 15 the maximum possible value for the largest of these 5 numbers, then the number of positive

integral divisors of & 15

5 wira oL ¥os D[N 40. & Rowjpd’ (B Row] S vow Sof 10 J&yD. &
Ro{ud 83 DA Doaf & M0 LITTLLR) Do 1 BN 7 ) BV B rasTY Vo

Options :
12

1. %

2 10

Question Number : 37 Question Id : 5447341317 Display Question Number : Yes Is Question
Mandatory : No

Three numbers are chosen at random without replacement fromtheset A={x EZ|2<x =

11}, The probability that the minimum of choosen numbers is 3 and maximum is 7 is

DT80 TR 4 ={r €22 <1< 11} &3 2a Aol mmaaa{w
D%0) EI0), & Do’ 385w 3 2080k 7 (8 Roa( Ba{eE RoFHS Jod?

Options :
1

| % 30

1

AP EAPCET 2021



AP EAPCET 2021

Question Number : 38 Question Id : 5447341318 Display Question Number : Yes Is Question
Mandatory : No

If A and B are two events with (4 U B) = 0,65 and P(B) = 0.2, Then the value of P( A ) 4P 8! ) is

A 20Bata B e Bot 50bwd) P(A U B) = 0.65 &by P(B) = 0.2 wand, P(A") + P(B°)
Qe dodh?
Options :

. x 0.85

0.9
1.15

1.1

Question Number : 39 Question Id : 5447341319 Display Question Number : Yes Is Question
Mandatory : No

One ticket s selected at random from 50 tickets numbered 00,01, 02, ... ... 49. The probability

that sum of the digits 15 10, given that product of the digts 15 9 15

00,01,02, ......49 & andoetds 50 ﬂiﬁbg.jn Aot &5 O3 JothdES of], &5 58 D woBy
VLA 9 LAY, ¥ Do g 10 e o 1 oIPI(G dodh?
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Options :
g

——

10

Question Number : 40 Question Id : 5447341320 Display Question Number : Yes Is Question
Mandatory : No

A one-fupee comn. a two-rupee coin, a five coin and a ten-rupee coin are tossed simultaneously.

Then the expected value of the sum of the values of cons that show heads up is

| drdrad, 2 drdraion, 5 drdraben, 10 drdrabe TGame Teheddd 48 F8
IDESHYNE &' HE THAV WGIS YodT Jd

Options :
8

1. %
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Question Number : 41 Question Id : 5447341321 Display Question Number : Yes Is Question
Mandatory : No

The equation of the locus of a point which is equidistant from the points (2,3) and (4, 5) 1s:

(2,3) 20ain (4,5) Decva VAT drded God Do) Decndan

Options :

- t+v=20

5 % r+y=4
3w X +y=7

4 % 4x + 4y = 38

Question Number : 42 Question Id : 5447341322 Display Question Number : Yes Is Question
Mandatory : No

The equation obtained by transforming x* 4 y* = 6x 4 10y = 2 = 0 to the paralle] axis
through (3,-5) 15

2070 Do (3,-5) & &rdy AAredd ©f HBSGH ST 6\E AFSS vFv aag-é
4 y* — 6x + 10y — 2 = 0 cg), Ard drdaw

Options :

_— xt+y?: =16
2 =

5 u X + 3 9

AP EAPCET 2021



AP EAPCET 2021

Question Number : 43 Question Id : 5447341323 Display Question Number : Yes Is Question
Mandatory : No

If a pont (a, a) falls between the lines |x + v| = 4 , then

[x + ¥| = 4 2rded Bwe 206 (4, a) Doty Gol) BN

Options :

1;l“|:E

o x lal=3

3 % lal < 2

Question Number : 44 Question Id : 5447341324 Display Question Number : Yes Is Question
Mandatory : No

If the straight lines 2x — v+ 1=0.4x+ y + 2 = 0 and x + y — k = 0 are concurrent, then
'k equals

r=y+1=04v4+v4+2=020000 1 +y -k =0 o PUFDLW BNEW LoD,
'k end

Options:
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|~.1||—-

-1
2

Question Number : 45 Question Id : 5447341325 Display Question Number : Yes Is Question
Mandatory : No

Find the value(s) of “k" such that the distance between the two paralle] lines represented by

(x = 2v)% 4 k(x = 2v) = 0 is 3 units.

(v = 2v)% + k(x = 2y) = 0 Both Hirodd Sawid Ardodiy T8 S crodw 3
odardiw wond, |’ deud(w)

Options :
1.% 0

Question Number : 46 Question Id : 5447341326 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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In an 1sosceles triangle ABC. the coordinates of vertices B and C of the base BC are (3,2) and
(2,3) respectively. If the equarion of the line AB 15 3y = 2x. then the equation of the line AC
18

ABC o3 28 &by dzbadnd’ #rd BC awg), D36 B, C v AdrdsTen S0
(3,2) Sobatw (2,3). doaaw AB »gdnin 3y = 2r wand, AC HDE6HAY

Options :
Ty = ;
s = 3x
5 % 2V =2
X+y=
4 % 2x —y=10

Question Number : 47 Question Id : 5447341327 Display Question Number : Yes Is Question
Mandatory : No

If 4x% — Sxy + v* = 0 represents a pair of lines with slopes m; and m,. then the value of
[my — m,| equals

4% = By + y2 = 0 2Dre6m30 arded e Trevwn m, ., m, W sawd, [m, — m,
Send

Options :

1% 1
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4, %

Question Number : 48 Question Id : 5447341328 Display Question Number : Yes Is Question
Mandatory : No

The three lines given by the combined equation v¥ — 4xy = 0 represents
y? = 4x%y = 0 93 Ddoabior, PRLEGHAW Ao AN ROTIVLY

Options :

the sides of an 1sosceles triangle
2.8 mﬁm aZoo cﬁmgb Zoaren

the sides of a nzht-angled tmangle

28 wort Gzbo CILE), Foarew

the sides of an equilateral triangle
205 RDEFTN oo ﬂﬂ:u% Zoarew

concurrent lines
A0S Dwew

Question Number : 49 Question Id : 5447341329 Display Question Number : Yes Is Question
Mandatory : No

The angle between the lines ab(x® — y*) + (a® — b*)xy = 01is

ab(x® — v2) + (a® = b?)xy = 0 2rded dpe E'J-Gfré Bt

Options :
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Question Number : 50 Question Id : 5447341330 Display Question Number : Yes Is Question
Mandatory : No

Ifthelmes4x +3v—1=0,x—v+5=0and kx + 5v — 3 = 0 are concurrent then k

4x+3y—1=0,x—y+5 =0 2boko kx + 5y — 3 = 0 Sen Rz Lo k =

Options :

1_.~.4

o

Question Number : 51 Question Id : 5447341331 Display Question Number : Yes Is Question
Mandatory : No
AP EAPCET 2021
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If (6,~k) and (=3 ,2) are conjugate points with respect to circle x> + y? + 6y + 4y + 12 =
0. then *k" equals
oy 4 6x Ay +12 =0 g8 (6, k) obatn (-3 ,2) Docoihen Roatod)
DotoHen eond, ‘b’ dend

Options:
T

Question Number : 52 Question Id : 5447341332 Display Question Number : Yes Is Question
Mandatory : No

If the parametric values of two points A, B on the circle ¥ + y* — 6x + 4y — 12 = 0 are 30°
and 90° respectively, then the equation of chord AB i

i =6y + 4y — 12 = 0 5,050 &of A. B Dododv Hrrabdod Dwse T 30°
oBaty 90° eawd. 4B 27 D8t

Options :
| n X + 3y =0
) % X¥=V3y=0
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v+ V3y—=3(1++3)=0

. V3x +3v+61=0

Question Number : 53 Question Id : 5447341333 Display Question Number : Yes Is Question
Mandatory : No

The length of the chord intercepted by the circle ¥ + v* = 8x = 2y — 8 = 0 on the line x +

y+1=01 units,

vy +1=0 06680 1f + v - By -2y —B=0 080 688 Lodtwotan JEY
o,

Options :

1.“'14

2y 7

|

Question Number : 54 Question Id : 5447341334 Display Question Number : Yes Is Question
Mandatory : No
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The length of the chord joining points (4 cos 8,4 sinf) and [4 cos(6 + 60°), 4 sin(f + 60°)]
on the circle x% + y2 = 16 is

2 y? = 16 S0 D& (4cos B 4sinf) Soboso [4cos(d + 60°), 4sin(B + 60°)]
Dotopu b 7 JED
Options :

e ?

Question Number : 55 Question Id : 5447341335 Display Question Number : Yes Is Question
Mandatory : No

If the coordinates of the ends of a focal chord of the parabola x* = 4ay are (x; ,1y) and (x5, ).
then

! = day ST d0ETE o w8 T l W0 (1, ;) 0003w (xry,1,) LoNd, ey

Options :
PO T |
_— Vi ¥V = 4a

¥i ¥z = —‘}ﬁz

ViV =—a
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Question Number : 56 Question Id : 5447341336 Display Question Number : Yes Is Question
Mandatory : No

The center of ellipse x% + 2v? —4x + 12v + 14 =015

P2y —4x+ 12v+14=0 AGBB0 dAE), SodHw

Options :
;. n (2:-3)

(—-2.3)

2o (2.-3)

L x 2.6

Question Number : 57 Question Id : 5447341337 Display Question Number : Yes Is Question
Mandatory : No

If 1 & hyperbola, the distance between the foci 15 10 and transverse axis has length 8. then the
length of its latus rectum 15

w8 BdhTIvairds T 206 Grdaw 10 Sobain 13555 eg 00 T 8 wond,
Detidn JES)

Options :

'I."q
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Question Number : 58 Question Id : 5447341338 Display Question Number : Yes Is Question
Mandatory : No

[f the ongin 14 the centroid of the tnangle for which (=2,3,4) and (3,-1,5) are two

vertices, then the third vertex 1s

(~2,3,4) 60w (3,-1,5) e B0t ITLVT A 48 Gz Sodierrdn Arudoddd)
o, R Arcd 3¢

Options:

5
. x (129

Question Number : 59 Question Id : 5447341339 Display Question Number : Yes Is Question
Mandatory : No
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If the line joining the points ( k,2,3 Jand ( 1,1,2 ) 1s parallel to the line joining the points
(5,4,-1)and (3,2,-3). then the value of k =

(k,2,3) &080iw (1,1,2) Dotodyud sDb »ovw b (5,4,—1) Sobosw (3,2,-3)
Docapway €85 A6V 0% HATAdAT dotd, k Ded

Options :
1

1. %

2w &

Question Number : 60 Question Id : 5447341340 Display Question Number : Yes Is Question
Mandatory : No

The angle between any two diagonals of a cube is

20A5006° DAD Boh STre 206 B a0

Options :
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Question Number : 61 Question Id : 5447341341 Display Question Number : Yes Is Question
Mandatory : No

The plane passing through thepownts (1,1,1).(1,=1,1)and (=7 ,=3 ,=5 ) 1

(1,1,1).(1,-1,1) S8 (-7,-3,-5) Decpv et Tab doe

Options :

Parallel to x-axis
L, V-UES AATeddaD

Parallel to y-axis

- V-8 DdAreddan

Parallel to z-axis
Z-MES RATedES0

3x—4z—-1=0

Question Number : 62 Question Id : 5447341342 Display Question Number : Yes Is Question
Mandatory : No

. sin ax
J_“n ShnE =
x=0 \tan bx

Options :
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b

Question Number : 63 Question Id : 5447341343 Display Question Number : Yes Is Question
Mandatory : No

: (Sin‘ll: Y + 31)
lim —

v -
x—=(-3) X* + 33X

Options :

Question Number : 64 Question Id : 5447341344 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

R 10 S I Y

If the function defined by f(x) = %j}— ~ = 0 15 continuous af x = 0. then
6f(0) =

Ingtl+x}|“x 1 ) . 59 ,

fix) = B T # 0 pdoabdan x = 0 58 8ddy®) dowd. 6f(0) =
Options:
1. % 2
2.9 3

1

3. %
4% O

Question Number : 65 Question Id : 5447341345 Display Question Number : Yes Is Question
Mandatory : No

dy
If v=rcos(x®).z=cosxthen—=
' dax
dy
y = cos{x®). z = cos x s —=
dx
Options :
=

— gin(x®) cosec x
180

. sin{x°) cosec x

ﬂ. ! n
— sin{x”) cosec x

3 » 180
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ﬂl O
— c05{x°) cos x
180

Question Number : 66 Question Id : 5447341346 Display Question Number : Yes Is Question
Mandatory : No

2 = 2 d ST
If v =Cos *(cosx) then tmn:i—}r at x ==
" dx 4
_1 o dy
v = Cos “(cosx) o0dd. ¥ = — 34— e
7 i @ dx
Options :
1. % 1
2.v 1
3. % 0
1
4. % vz

Question Number : 67 Question Id : 5447341347 Display Question Number : Yes Is Question
Mandatory : No

pm e dy
If y=Sin™ [xW1—x—yx-VlI—xFand0 <y <1, ThenE 15 equal to

— = dy
y = Sin~* In-‘l —x—ya vl —x?| Sobaiw 0 < x < 1 eond, — =

dx
Options:

1. =
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1 1

> vi—x 2V x—x*
1 1

= =
=1 1

4 % Vv1i—x2  ayl-x?

Question Number : 68 Question Id : 5447341348 Display Question Number : Yes Is Question
Mandatory : No

[ I dy
If v=_Jx++yx+yx+ oo, then—=
g k| dx

- dy
y= 1-,]|1 Tl Xt WX e o ea0d. —=
- dx

Options :
1

—

1.% ¥

l-‘l'—l
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Question Number : 69 Question Id : 5447341349 Display Question Number : Yes Is Question

Mandatory : No
. T i L AT g o e s -
If two curves x = y°, xy = a” cut each other orthogonally at a pomt. then a* =

v =92, a0y = 0f 03 I5enuserRS st vebidur Dodotet), 0’ Dend

Options:
1

1.2 3

(%

Question Number : 70 Question Id : 5447341350 Display Question Number : Yes Is Question
Mandatory : No

s : 1 .
A parficle moves along a straght line according to the law s = ?Ig — 312+ 9¢ 4 17, where *s

15 10 meter and “t” 1s m second. Its velocity decreases

ey i .
5= ?ﬁ =3t 4+t + 17 @) SRR 18 Sndw R0V Sop 9BYed. ' D
RERLE'AP, 5" D Dot Groogol, & S Sidw wIFRLGD] ‘1 Dedew

Options:
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,0<t<3

t >3

Question Number : 71 Question Id : 5447341351 Display Question Number : Yes Is Question
Mandatory : No
Find the absolute maximum of v*® — v*® on the interval [0, 1].

[0, 1] eoscdnes” «** — x* § Ao Do (8L Dens

Options :
-1

4

|¢||—

Question Number : 72 Question Id : 5447341352 Display Question Number : Yes Is Question
Mandatory : No
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The maximum area of a rectangle that can be formed with a fixed perimeter of 20 umts 15
5. units

20 aiordty 26 WEnSA o SEESUSTUY” (A PTrugw v AgEACHAD alwg)
PTVED B8y oAk,
Options :

30

1. %

5 W 25
3. % 20

15

Question Number : 73 Question Id : 5447341353 Display Question Number : Yes Is Question
Mandatory : No

If f(x) = x® = 5x* + 5x% — 10 has its local maxima and minima at y =aand x = b
respectively. then 2a + b =

U= a doboio x = b 3¢ f(x) = x* - 5x* +5¢° - 10 ,;r:}s (10 SoBot g»ns E
Denden 30A Gold. 20 + b=
Options :

1.9 2
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Question Number : 74 Question Id : 5447341354 Display Question Number : Yes Is Question
Mandatory : No

dx

] (sin x)(cos x)

Options :

log |sin x| 4 ¢
log |cosx| + ¢

3 v log |tanx| + ¢

log |cosec x| + ¢

e

Question Number : 75 Question Id : 5447341355 Display Question Number : Yes Is Question
Mandatory : No

" Stan(x)
] dyx = x + alog |sin(x) — 2cos(x)| + k ,then a =

tan{x) — 2

" 5 tan(x)

walE =2 dx = x + alog |sin(x) — 2 cos(x)| + k ®ond, a =

Options :

1.»—‘1
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Question Number : 76 Question Id : 5447341356 Display Question Number : Yes Is Question
Mandatory : No

2y +3 -1 .
If_‘ GiDGI DG dx = m+ﬁ.thenvaiuemt at+b+c=

i d = } d.a+b
g T e 880003 =
J Mr+x+2)x+3)+1 ’ ax? +bx +¢ g ¢ te

Options :

Question Number : 77 Question Id : 5447341357 Display Question Number : Yes Is Question
Mandatory : No

{2cosx +3sinx 23
If J — dx = (
decosx+5sinx

:”)1 t+ klogl4cosx +5sinx] +¢ then k=__

F

Zeosxy +3siny 23
dxy = (E)x +k logl4 cos x + 5sinx| + ¢ woand k=

deosx +5sinx

AP EAPCET 2021



AP EAPCET 2021

Options :
.

41

b

Question Number : 78 Question Id : 5447341358 Display Question Number : Yes Is Question

Mandatory : No

b i

2
i3 , v? dy =0 and ] 2 dx 2? then

a a
D 2 :

’ x® dx = 0 oo ‘ xt dx = % L2038

a i

Options :

1.jn=—1£:£==i

=
—
=
L= o
|
I
—
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a=-2 & p=12

Question Number : 79 Question Id : 5447341359 Display Question Number : Yes Is Question
Mandatory : No

If the area of the region enclosed by the curve 1% + v* = 16 and the lines x = 2and x = 3 15

(3\,-'? ~ 43 - EE'—T + L‘) sq.units, then *k” equals _

¢+ % = 16 355w 2Bty ¥ = 2, 1 = 3 0¢BpY 6| DBuElG( KB PTURY

(Eﬁ - 4/3- E—;’ + k) 23.cr D eond, k’ Dend

Options :

|-_"|..
16 Sin~?! (—“—)
4

Question Number : 80 Question Id : 5447341360 Display Question Number : Yes Is Question
Mandatory : No
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Solve the followmg Differential equation.

408 ISR DLSOETDE FrBA BeIHAW.

@+ 4 -
x*+1)— + 4xy =
dx ' x241

Options :

vixt —1Y¥ =x+¢

5 vix2+ 1P =x+c

pix® 4+ 105 = x° 4 ¢
3. %

yix2=1D2=x+¢

Physics

Section Id : 54473426
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 5447341361 Display Question Number : Yes Is Question
Mandatory : No
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When two resistors of resistances R, = (200 4 2) Q and R, = (400 + 4) Q are connected in
series, the equivalent resistance of the combination 1s

B0 Mcssw awg) AMoew Ry = (200 1 2) O S8at R, = (400 4 4) 0 o e3¢"
Suodedd. D Pockrdiw g HP8 e Desd

Options :
_— (B0D1+7)Q

L« (600£2)Q
, ., (600+6)Q

4« (200£2)Q

Question Number : 82 Question Id : 5447341362 Display Question Number : Yes Is Question
Mandatory : No

Two towns A and B are connected by a regular bus service with a bus leaving n etther direction every
T minutes, A man cycling with a speed of 20 kmph from A to B notices that a bus travelling in the
direction of his motion goes past him every 18 minutes and every 6 minnres he nofices a bus travelling
in the opposite direction go past him. Assuming that the busses travel with a consfant speed. find T and
the constant speed of the buses,

B0tk Htrre A 0050 B & dold 3 T Aru) Both B8R Lk babwddu e
TE6[00 T RoTRowd. 4 Aold B & 20 kmph 566 286  pasredod 8D, AN ANI
636" 10 18 AL .8 Wiy Trindoed. 3835 H3G° DO 6 IV 18 WYy T,
67T 508" Goc) SR LRV ) FRIHA T B LRV 26 5 dod?

Options:
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2
— hr & 38 kmph
27

-
B hr & 40 kmph

3
E.’:r & 40 kmph
3.+

2
) hr & 28 kmph

Question Number : 83 Question Id : 5447341363 Display Question Number : Yes Is Question
Mandatory : No

A ball 1s thrown at 30° with horizontal from the fop of roof 20 m high with a speed of

13 m.s™". At what distance from the throwing point will the ball, once again be at a height of
20 m from the ground? (g = 10 m.s™2)

e 20 m 08 6R) 3wdo P Aol SWPH $3 VAT RS 30° Emed 13m.s™
S Hriod Daarhorrdy. e 2 dodt 20 m AR B8 B389 B0Y, DAL e

Mol Jodd Grtot &oted? (z=10m.57%)

Options:
1 % 10.2m

> 14.6m

2.

3« 1B.6m
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98m

Question Number : 84 Question Id : 5447341364 Display Question Number : Yes Is Question
Mandatory : No

When a vehicle of mass m 15 moving with a velocity v over a concave over-bridge, of radius of

curvature 1. the thrust on the road at the lowest point on the bridge will be
r 980" (6o SDAR 18 QYLPTE S0dp m EHTF M w8 TTIM v Sedd
DoirdadRi, & D033 eidety) 6 HIB LAY

Options :

mpe

Mg +

e

Question Number : 85 Question Id : 5447341365 Display Question Number : Yes Is Question
Mandatory : No
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Block ‘A’ of mass 100 kg 1s kept above another
block ‘B” of mass 300 kg. ‘A" 15 tied to the wall °'C’ /

with a horizontal string. The coefficient of friction

between ‘A" and ‘B” 15 0.35 and that between ‘B’ /@

and the horizontal surface 1s 0.5, Find the horizontal , .; o7
force P, necessary to move the block ‘B”.

100 kg @asu“i fiv fbm@' ‘A, 300 kg Qbﬁt!‘i‘ fv o8 :‘i‘:mé ‘B’ 2R mlﬁ. A &a:;}
$0n varead 848 ‘(7 o Al shud aindd. ‘A o ‘B’ v S| oo
hrsdw 0.35 Ddakw ‘B’ § duini D[ 0.5. &) *B’ S60EIS 03060 L0
DArdd AN P

Options:

.« 1150 N

, « 1250 N

L o 2350 N

4w 1420 N

Question Number : 86 Question Id : 5447341366 Display Question Number : Yes Is Question
Mandatory : No

Two bodies having masses m the ratio 2 : 3 fall freely under gravity from heights which are in

the ratio 9 : 16. The ratio of their linear momenta on touching the ground is

Dot S0PV GOfoven 2+ 3 Ade" ayow. 0D 91 16 Anyde” o e Aec.
BT Sod DEOBIT") Q. TP TP D adob Gopdriane Aind

Options:
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Question Number : 87 Question Id : 5447341367 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 0.15 kg moving with a velocity of 15 m.s™* comes to rest when it hits a
spring that is fixed at another end. If the force constant of the spring is 1500 N.m ™", the

compression in the spring is

0.15 kg @03 i 50 15 m.s™" Sridnod osrdod, 208 P2y Hodsatd ohiay
5D M OG04 5008, Eyﬁ G, w0 Soesan 1500 N.m ™. E;Juﬁrﬁ‘ bR
Rontdo

Options :
1. ¥ 0.15m

_01m
2. %
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Question Number : 88 Question Id : 5447341368 Display Question Number : Yes Is Question
Mandatory : No

What 15 the nature of the graph between momentum of a body and its kinetic energy?
L8 SR g SIHAAN DBk ASIHY G| D RIS DNoE?

Options:
Straight line
el o 3]

Parabola
e o pbul Flanb e bl

Cucle

-ﬁ;gﬂﬂ

Ellipse
&3 Sy

Question Number : 89 Question Id : 5447341369 Display Question Number : Yes Is Question
Mandatory : No

A particle shides down along an inclined plane AC. If the A
plane is frictionless, kinetic energy of particle at *C" 1s . )
y

28 S8 T GVAD Mol Sot Fhdued. dudy

" : B
200 G008 ‘C’ Dot S So IV, (0¥ .
od?
Options:
1w T8y
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mgx

e (siiﬂ)

3. %

y
cosf

mg(
4, %

Question Number : 90 Question Id : 5447341370 Display Question Number : Yes Is Question

Mandatory : No

A uniform disc of radius ‘a’ and mass ‘m” 1s rotating freely with an angular speed of ‘" na
horizontal plane about a smooth fixed vertical axis passing through its center. A particle. also of
mass ‘m’ 15 suddenly attached to the rim of the disc and starts to rotate with 1t. The new angular

speed of this system 1s

@ TG0 m 3D $0AD w8 2,06 DY) ‘v’ Sk Sfawd 4 dirods
S0P o) Sodaw Mot Jab £,APR 36 AR o DT SAbEsE. ‘m’
BT 0 S DY) AINE), Lo LS| Qo wddeded, A8 ey FAorre
Bi08. wowd 350 awe) E¢ Edabdd

Options :
W

1w 3
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Question Number : 91 Question Id : 5447341371 Display Question Number : Yes Is Question
Mandatory : No
The moment of nertia of a thin rod of mass *M’ and length *L’ about an axis passing through a

. | N . .
point at a distance . from its center and perpendicular to its length 15

M a3, L e $DA ad ) sé a108), Sotlo Ao % crdod’ &) Do)
hor T'doR) worda Ddorr BEAY o

Options :
ML?
1. = 48

ML?
2. % 48

MLZ

12

TML*

Question Number : 92 Question Id : 5447341372 Display Question Number : Yes Is Question
Mandatory : No
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The torque due to a force F = 31 - 2; -k acting ata poit r = 8i + 2} +3kis

w0 F =31 —2] — k 0dodd w8 Doy T =81 +2] +3k s HIBabco d0d
26,GA &G
Options :
, x ¥ —17j +22%

o 4T +17] - 22%

2

.« 81 -17] +22Kk
—4i —17j — 22k

4, %

Question Number : 93 Question Id : 5447341373 Display Question Number : Yes Is Question
Mandatory : No
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Match the following entries in column-I and column-IT with respect to an oscillating spring-block system:

AP EAPCET 2021

Column-1

Column-I1

(a) Mass of the block is doubled

(1) Energy of oscillation becomes 4 times

(b) Spring constant 1s made 4 times

(11) Speed of block becomes 2 times

(¢} Amplitude of oscillations is doubled

(1) P.E. becomes 4 times

(d) Angular frequency is doubled

(1v) Time pertod becomes V2 times

SobTe tRoR) m)ofi- B30} SR DotieBodd A SR BETUR Totdd HARS'

woTLO 20 dobed

Sdw-1

S -1

(a) B} dig), géﬁtri' 0o &

() Sodme 3 4 0 LA

() 0f Rosin 4 84 83

() B 36 2 d0ridd

(¢) Sobarw Ewd HODA 8oy B3

(i) Do #8 4 B0 b

(d) Seboso Frdapaw oot 83

(iv) Eomrdds o V2 Brbd

Options:

1. %

(a—iii),(b—ii),(c—i),(d—iv)

5 % (a—iv),(b—i),(c—iii),(d—ii)

3

. Ca—ii), (b—iii),(c—iv),(d—1)

(a—iv) {b—ii),(c—ii),(d—1)
4, +

Question Number : 94 Question Id : 5447341374 Display Question Number : Yes Is Question

Mandatory : No
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A particle of mass 0.4 kg executes simple harmonic motion of amplitude 0.4 m. When it
passes through the mean position. ifs kinetic energy is 256 1072 J. If the initial phase of the

oscillation 1s T then the equation of its motion 15

0.4 kg @3(T3 o 000 0.4 m S22 HOWA 0 VOV TTE)S BB Bied. ¢
Sadw s 3w ot PaireddHe o Ad8E 256 X 107, Elodan ag)

a9 o3 % 200 BUP POEsHEAD

Options :

it
= D.4sin({D.4}t +T)

1. %

x = 0.2sin(2v2 + (E] r)

4
2. %
T
¥ = 0.8sin ({zﬁ}t 4 T)
3. %
I
x = 0.4 sin ((zﬁ] t+ I)
4.9

Question Number : 95 Question Id : 5447341375 Display Question Number : Yes Is Question
Mandatory : No
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A spherical shell 15 cut into two pieces along a chord as shown in the
figure, ‘P’ 1s a point on the plane of the chord. The gravitational field @
at ‘P" due to the upper part is I, and that due to the lower part 1s I,

What 15 the relation between them? e

DAY’ Arod Jedwm w8 Aved Mo w8 oYt dowd
S08) T S30oBUEAB. ‘P 80 & cWwE), dudnd’ w8
Dotow). I Jodain &rbd erfdww Sdterr ‘P’ ot btﬂ:’s
016 MOHEE e SR [ Lo vand

Options :
| % I = I

L« b>h

3 L=1I

No definite relation

= 206 Je0S0d Dotiotdn Gotidd
4, %

Question Number : 96 Question Id : 5447341376 Display Question Number : Yes Is Question

Mandatory : No

Work done i raising a body of mass ‘m” from the surface of the earth to a height T

. (Where R is radius of earth. M is mass of the earth and G is gravitational constant)

M GO (0 BP0 Ard A EHOOVIND % BB BRD DY)
Bobdwd 1 (R - gD e, M - 2l 833, 6 - i
HdT(sGn Do)

Options :
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GMm
4R

4GMm

IGMm
4R

GMm
3R

Question Number : 97 Question Id : 5447341377 Display Question Number : Yes Is Question
Mandatory : No

When a spiral spring 1 streiched by suspending a load with 1t, the stram produced 1s called

sfraii.

w8 HOTTE Mrb) TR DEERAYE, e’ s8A 50 287

Options :

Volume
adaTroe

Shearing
AT

Transverse
aﬁﬁé
it
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Lonmtmudimal
=T AT
84

Question Number : 98 Question Id : 5447341378 Display Question Number : Yes Is Question
Mandatory : No

The tlow rate of water from a tap of diameter 1.25 em 15 3 litves per nunute. If coetficient of

viscosity of water is 1072 Pa. s, the nature of flow is

1.25 em o 89D sovnan i dved A6 ArDd 3L S0 HIIrI . A
q0g), V) Angan 107 Pa.s wowd ¥ pIrin

Options :

Unsteady
o PUSCGTD DTNFAD

Turbulent
’nﬁﬂiﬂ-g RTEO

Streamhined
oror a4 DoAY

Lanunar
PUSE TR

Question Number : 99 Question Id : 5447341379 Display Question Number : Yes Is Question
Mandatory : No
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A cylindrical tank is filled with water to a level of 3 m. A hole 15 opened at a height of 52.5 em from

the bottom. The ratio of the area of the hole to that of the cross-sectional area of the tank 15 0.1. The
square of the speed with whuch water will be comng out from the onfice 15 (g=10m.s7%

w8 R0 519 06" 3m 2003w 56 DB s, §1 e arridw ol 52.5 em
0" D) Cogin BabrddB. dod DTS, 5 Se(Ey6 dTerdS o Aayd 0.1. Gogidod
Aol 0Bt 368y N8 34 alvg) 64w (g=10ms7?

Options :

- A
1.@5':'”‘-5

> x *0 mes "

; 2 =2
3 % 51.5 m*.s

50.5 m?. g2
. =®

Question Number : 100 Question Id : 5447341380 Display Question Number : Yes Is Question
Mandatory : No

A beaker 15 tilled completely with water at 4 °C . Idennify the mcorrect statement:

28 DG 4°C 5 NE PO oDWENB. & §08 TS 2006,

Options:
Water overtlows when heated above 4°C

4°C g7y DEy,D SABDILHE A TF'Haw

1. %

Water overtlows when cooled below 4 °C

4 °C Sofl B, S BLLBDIYDE AL TeT P
2. %
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Water overflows either when heated above 4 °C or cooled below 4 °C

4°C g7y 8.5 uBain 4 °C STy B8y, LoD A ToT PHao

3. =

Warter will not overtlow when cooled below 4 °C

, o HC 8T S5 ) e A FoD'eo

Question Number : 101 Question Id : 5447341381 Display Question Number : Yes Is Question
Mandatory : No

A wall has two layers A and B, each made of different matenals. Both layers are of same thickness. But,
the thermal conductivity of material A 15 twice that of B. If. in the steady state, the temperarure difference

across the wall 15 24 °C, then the temperature difference across the layer B is:

8 ) Boch Tgen A S96c0 B 67 o, aﬁﬁﬁ 5 30 :m'g“uﬁ’ Saird Sob 0dad. Gotd
T 48 Soddnd 6o, 5 g A 0], GATIrES B Sof) Soct Bk IS5, WG

?gﬁﬁ“ wond, Aic voder &‘%" o dichdw 24 °C, s B JT0 voder &g‘dw .‘S?SU":F:::JJ odd?

Options:
8°C

1. %
2, % 127°C
3w 16°C
4 % 20°C

Question Number : 102 Question Id : 5447341382 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following. in general. 1s a slow process?
& 2o " Ad0) & VoD HIoH QAP

Options:
[sothermal

1@@:&&&9&@

Adabatic
fgﬁiﬁiﬁ E::éc-i}

[sobaric
ﬁgﬁm;& Hach

Isochoric
:‘gﬁ R0HHBATE RS0

Question Number : 103 Question Id : 5447341383 Display Question Number : Yes Is Question
Mandatory : No

AW = 0 for the process
AW =0 E:-r:ﬁa}g Fel-Ten )

Options :
Isobaric
| R DED Diab

Isochonc

- a0 D08D8&Arn pdak
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Isothermal

P edor Diab

3. =

Adiabatic

HERE Diab
4.% ® &

Question Number : 104 Question Id : 5447341384 Display Question Number : Yes Is Question
Mandatory : No

A given system undergoes a change m wlnch the work done by the system equals the decrease

i 1ts internal energy. The system must have undergone an

P (DD AT §'2PB0eB, B 0% SRR DI T oddd 3265') drbou
Rdrde. ¥ 350 3BT B3 &' :Peed?

Options:

Isothermal change
A0 f:—‘..g" for Sdoy

Adiabatic change
:gﬁ‘gs SE

Isobarnic change
RA0DED Ardoy

Isochoric change
R0 RDDOATE Jorddy

Question Number : 105 Question Id : 5447341385 Display Question Number : Yes Is Question
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Mandatory : No

Molar specific heat at constant pressure Cp 15 related to intemal energy U and absolute

temperature T as (p =
0 e 38 Arers DYhaw Cp . ©0aga 3§ U S0dokn 16 &'de T 9 o

2oLeBAW Cp =

Options :

UxT

Question Number : 106 Question Id : 5447341386 Display Question Number : Yes Is Question
Mandatory : No

Speed of a sound in air
mdS" (D Do
Options:
15 mndependent of temperature

&' 18D BoDE

1. %

mcreases with pressure
DEHANE DEHDAA
2. ®
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micreases with increase i hunudity

eddd DOGced DDA
3. ¢ @

decreases with increase in hunumdity

e 20ACoS Srod00d
4. % @ -

Question Number : 107 Question Id : 5447341387 Display Question Number : Yes Is Question
Mandatory : No

A thin lens of refractive mdex 1.5 has optical power of =5 Diopter m aur. Its optical power i a

liquid medium with refractive index 1.6 15 Diopter

15 58858 fonsD) $DAS us D sssn mdé’ -5 cairpd &mgvﬁnl s9A
63) 8. wand 16 24233 ongaw <D a8 gaand’ ¢ sugo ag), avmgé:.m Dod?

Options :

1.¢ 1

Question Number : 108 Question Id : 5447341388 Display Question Number : Yes Is Question
Mandatory : No
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The ratio of maximum and minimum intensities i an inferference pattem is 36: 1. The ratio of
the amplitude of the two mterfermg waves will be

S[0L0m Jriraws’ (05 00 SR G500 ) ARG 36: 1, B 0860
B6orTe) S0R DBMAW Aind

Options:
1 % 27

oox 14

35-*'1':?

4J?:5

Question Number : 109 Question Id : 5447341389 Display Question Number : Yes Is Question
Mandatory : No

Two insulated charged metallic spheres ‘P” and ‘(" of negligible radut have their centres separated by 4

distance of 60 em. The mumual force of electrostatic repulsion if the charge on each is 6 X 107¢cik

'P* Sobosy ‘0" 9 Bt 6'ird wd3S e 88y 5 avé&g:m ¢0A 8 Gotrew 60 cm
Aroae’ 36 dabud &) 0w, H3 8% 6 107 € wawd, 53 xS dsgnwwdw

Options :

-3
,l.ﬁ'EIKlI] N

—g
, « 25%107°N

5.2x 107N
3. %

AP EAPCET 2021



AP EAPCET 2021

—49
L x 9IX107°N

Question Number : 110 Question Id : 5447341390 Display Question Number : Yes Is Question
Mandatory : No

Two capacitors each having a capacitance 2 X 10 F and a breakdown voltage 5000 V. are joined

n series. What will be the resultant capacitance and the breakdown voltage of the combmation?

2% 10°°F Eﬁ‘ﬁ:ﬂfhj 2D ot Srmbd e $38 Nomraaw dabud. 3-.:5'&5{?3 T
iy Sgé 5000 V. DA 55260 ddTd T8 08 809y 0B HiS\GD Segﬁ
o AT

Options :
- 4%x107° F & 1,000V

5 o 107" F & 10,000V

. % 2X107°F & 5000V

4 % 10°¢F & 2,500V

Question Number : 111 Question Id : 5447341391 Display Question Number : Yes Is Question
Mandatory : No
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A silver wire of length 3 m and of cross-sectional area 6,14 X 10~° m® carries a current of 6 A.
Atomic weight and density of silver are 108 and 10500 kg.m ™ respectively, A silver atom
contributes one free electron for conduction. Avogadro number 15 6,023 X 10% / mole. Dnft

velocity of electrons 1n silver is, close to

3m FeL. 6.14x 107" m’ g6 drofwio 8 Dok & 64 xS
D327oliSR008. Jod GVE), DEATER LA B FeddLs ST 108 LBy
10500 kg.m ™. 48 Dol HOATTVY) DTero Edo w8 G VDR B8, ITE
Rof 6.023 X 10° / mole. 3odé’ JugS o), &5 S toarar 087

Options :

1 % 10 2 ms™!

, % 10 * ms™!

3 o 0.1ms *

Question Number : 112 Question Id : 5447341392 Display Question Number : Yes Is Question
Mandatory : No

A coil wrapped around toroid has mner radius of 20 em and an outer radius of 25 cm . If the
wire wrapping makes 800 turns and carmes a current of 124, The maximum and minimum

values of the magnetic field with i the toroid are

20 cm e0dd m&&g.‘m, 25 om er3y qﬁ*gm 88A% 28 'oand D as e‘ir‘n:b%r
R0CAB. S Bl TS b R B0 B G Mok PSR MG 124 Land
Eorant 6700 6ol a0t FBAD dE), MBX Bk S Jenden SMRT

Options :
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1o 9.6ml, 7.68mT

4mT, 25mT
=®

3 % imT, 5.6mT

6.6 mT, 3.3 mT
4, %

Question Number : 113 Question Id : 5447341393 Display Question Number : Yes Is Question
Mandatory : No

Two circular coils 1 and 2 are made from the same wire. The radius of the 1% coil is twice

that of the second coil. What is the ratio of potential difference applied across them ?1 s0 that
z

the magnetic field at thewr centers 15 the same?

28 &1 Kol SCIrEBADICD Bot TS Aritrn) o). T6" el Sritbey dwe),
TR0 eS8 0. T8 Somrw 38 A6\E wabid o8 Fgren HATAIL

o i
55608, T god TOALS dare iyd % Jer gord ?

Options:
3

1. %
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Question Number : 114 Question Id : 5447341394 Display Question Number : Yes Is Question
Mandatory : No

A copper rod 1s moved in a magnetic field. The charge developed across its ends will be
proportional to

w8 TN 649 28 B0 08 F3A06" SBebBTE. &2 Bocds 90 0 3,8 Bod L3820
AN8 e Ardadroand’ sotd

Options:

Magnetic flux

1 un:!.:é',jj o 8l iro

Rate of change of magnetic flux

edariranes” Srday Bew
2. %

1/ velocity of the rod

. i.-sg. ca0g), Sridw

I/ magmitude of the magnetic field
1/ eoiar) o 2820 CI0E) DBATRHW

4, %

Question Number : 115 Question Id : 5447341395 Display Question Number : Yes Is Question
Mandatory : No

The self-inductance of two coils of a transformer 15 20 mH and 30 mH. What 13 the resistance
between them?

8 B8N 6 Bocy Witow AK0I0 D 20 mH dat 30 mH. 6 ek AWeaw dod?

Options:
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1510
600 0

Infinite
Boodaan

Question Number : 116 Question Id : 5447341396 Display Question Number : Yes Is Question
Mandatory : No

A transformer works on the principle of
DBS0sIWL DA oo ARG

Options:

Self-induction
SINe TR T

Electrical inertia

SICED 24SCAD
2.« DENOBES

MhMumal mnducthion

03] Do

Magnetic eftect of electric current
DANS Do AANE), 0 o Dardo
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Question Number : 117 Question Id : 5447341397 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 15 the property of a monochromatic, plane electromaguetic wave in free space’

R 0dTVANG' 08 DSIF, OV DA 00 Borded RS, 68,20 & Sod TG DB?

Options :
Electnic and magnetic fields have a phase ditference ot 1}

DS, eI ot Tore 206 % ST HGAN GotoR

The energy contnbutions of both electric and magnetic fields are equal

- DS, oL od STV JUD FE OB VATRIVT Go

The direction of propagation is in the directionof B X E

B X E &% 80of D06 6% Gothod

The pressure exerted by the wave 1s the product of its speed and energy density
0orian e Senrond HEAAW, o7 e, A Bk 3 Fegde Erds

AT RN Gofda

Question Number : 118 Question Id : 5447341398 Display Question Number : Yes Is Question
Mandatory : No

When a light of wavelength 4900 A falls on a photosensitive metal, a negative 2V potential 15
required to stop the emitted electrons. Then the work function of the material 1s nearly . Given
charge on electron = 1,602 % 107 € and Planck's constant = 6,625 x 107 1.5

4900 A 8001350 SBAR 500 w8 T Arg) rirs 6'irawp HEIWIY @, Wes
OO Deod 2V. wand &' Oergaw sy, 53 Habdn (38 -;gvosan: 6.625 %
10715, S 838D #1602 X 1079¢)
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Options :
1. % 1L1leV

2.2eV
2. %

3 ¥ 0.53 eV

4 % 1eV

Question Number : 119 Question Id : 5447341399 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A ); The impact parameter for scattermg of a- particles by 180° is zero
Reason (R): Zero impact parameter means that the a-particles tend to lut the center of the nucleus.
B (A): ey sren 180°6° HBEHAD BedS ©DDrd Hohd T
560 (R): 6irs Hribd ) AT uery ST Sogdidn alug), S ) ¢
§erd3 Hobdy Faw
Options :

Both A and R are true and R 1s a correct explanation for A

| A S0bodn R Gedr RECAY. Jubain R @38 A § 2bdS D500

Both A and R are true but R 1s not a correct explanation for A
A Z0B0iw R Gocr 2605, s*A R 36 A & 20GLa Dddn =

A 15 true. R 1s false
A HBELAG, 50 R 26 57
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A 1s false. R 15 true
A 28 590 570 R 20g08

Question Number : 120 Question Id : 5447341400 Display Question Number : Yes Is Question
Mandatory : No

The current gain for a transistor working as common-base amplifier 15 0.96. If the enutter current

15 7.2 mA. then the base current 15

-s:.uéd Er0 358 SOSAVT DABANEA) 8 A0 dws), LI erdaw 0.96. &
G & i
M.}aé 7.2 mA eoond eserd :)mbé

Options :

0.29 mA
1.

0.35 mA
2. %
3 ® 0.39 mA4
4 » 10mA

Chemistry

Section Id : 54473427
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 121 Question Id : 5447341401 Display Question Number : Yes Is Question
Mandatory : No

The shortest wavelength mn hydrogen spectrum 1s approxunately
TESS 58 DOSNG’ B B%),S B6eM3Y SN AT
Options:

1 % 121 nm

¥
7 01.2 nmn

2

5
3 182 nm
4 » 89.2nm

Question Number : 122 Question Id : 5447341402 Display Question Number : Yes Is Question
Mandatory : No

The ratio of de-Broghe wavelength of two particles 4 and B 15 2 : 1, If the velocines of A and B are

0.05 m.s~" and 0,02 m. 5%, respectively, then the ratio of their masses my, ¢ my must be

A 0bako B oo Ai5'D 9000BT® NG 2+ 1. A 20000 B & (0 Smen 363
0.05 m. s~ Sobatn 0.02 m.s™! wand, 8 ddTraon Jnd my i my

Options :

1. % 5:1

10 : 1
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Question Number : 123 Question Id : 5447341403 Display Question Number : Yes Is Question
Mandatory : No

If the maximum kinetic energy of photoelectrons ejected from a metal swface when it 1
_r - " S (P -20
iradiated with a radiation of frequency 4 X 10™ 577 15 6.63 % 107" . then the threshold

frequency of the metal 15

26 §'r By 4x 10 571 Tripdn o D36erdS MBS s 08 g
1103 (5238 6.63 X 107" wond, & 87 86ed IR

Options :

. L -4
210" =
e

1% 10571

2. %

3 x 10 71
3. %

o 11X 71 e e

Question Number : 124 Question Id : 5447341404 Display Question Number : Yes Is Question
Mandatory : No
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Which element belongs to the fanuly of elements, that also mcludes element Gallium?

208 uruswd’ mhabd &) Ard &' fo Juresin 267

Options:
Carbon

=yin) E‘,I:‘.‘I

Aluminum

vur&ﬂ::}ni::m

Iron
R el

Arsenic

Hﬂjﬂé

Question Number : 125 Question Id : 5447341405 Display Question Number : Yes Is Question
Mandatory : No

Which of the followng element, has the nghest number of unpaired electrons m its ground stare?

i Frond’ 68) ), B8(E 28 (PG JUTS w0 (wobd Jugdew) b

Options:
Mn

1. %

= 1

2@“

N1
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4hFe

Question Number : 126 Question Id : 5447341406 Display Question Number : Yes Is Question
Mandatory : No

In the modem penodic table. the acidic nature of oxides

BEDE BO0S DOSH" BT oL B REFHID

Options :

Increases from left to night and decreases from top to bottom

| deaw Ao DEDL DENDA 2BAIH D Aol FoBS Brd.
1.

Decreases from night to left and increases from top to bottom

. S0C Aot) EIVDINS ﬂﬁ:m Subain 2 Aot SobsS Ddorba.
2.

Remamns same across a pertod and mereases from top to bottom
3 % i}ﬂcﬁaﬁ 9o RATROTT GoGiA), 80D » Aved S063 DA,

Decreases from left to right and remams the same down the group

4% DEH Avotd SICDRNHE DA 208080 ArD e Medtr AATIT Godiay.

Question Number : 127 Question Id : 5447341407 Display Question Number : Yes Is Question
Mandatory : No

The donunant intermolecular force that must be overcome to convert hqud methanol to its

Vapour 15
DS B o ey Breli’ DS Ardy 08 BBANBIVND S0 R0 @odd

esc0eere) (U0) eodd erutiomred) o))
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Options :

Covalent Bonds
2SI B0 Lol

Dipole-Dipole Interactions
B(60-0LE0 DORDNG ojen

Hydrogen Bonds
Piad wobren

Coordimate Bonds
mmaS@ Lol el

Question Number : 128 Question Id : 5447341408 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Matcl the following 1ons with the corresponding hybnidization of their central atoms?

Tons Hybridization
(i) NO, (a) sp®
(i) NH, (b) sp
(i) SCN (c) spid
(iv) ICL (d) sp?

Bofd DEATEND) PosBEde Gk, S08 wairdnd) D8 BAD Deddsdned 2Boluan’
o

e9odrAe 088e0m0
(1) ;"li’ﬂ; (a) sp?
(i) NH, (b) sp
(i) SCN (c) sp’d
() ICl, (d sp

Options:

1.@?{i-d.}- {ii"ﬂ]. (ili—b ). {h-'"{'j
2. ® (i—c), Lii—b), (lli—a), (iv—d)
. (i—a), (ii—d), (iii—c), (iv—b)

3.

4 % (i=b), (ii—=¢), (illi—=d), (iv—a)

Question Number : 129 Question Id : 5447341409 Display Question Number : Yes Is Question
Mandatory : No
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If an element in group 2 formed a compound with an element in group 17 of the periodic table,
the compound formed 15 likely to

8O0N ‘:JQSES' L"br::l 2 e QAPUSAD, QJ':J 17 Aregand ug ﬁ&éﬁam:: hﬁ'}&m&. 1
ﬁﬁn&%m

Options :

conduct electricity in the solid state

;:m:q:.}aﬁ‘ :@méém Pardan Soiomd

have a low boiling point
- EUE RSN R Foaw (20db aJ'ds) S9A cocad

dissolve in non-polar solvents
2GS ratwd” S

be a crystalline sohid

208 Fajﬂs:.s.m'r ol
4.

Question Number : 130 Question Id : 5447341410 Display Question Number : Yes Is Question
Mandatory : No

At what temperature will the total kinetic energy of 0.30 moles of He be same as the total

kinetic energy of 0.40 moles of Ar at 400 K?

D I’ 56 0.30 Ardv He o) do Ad23E, 400 K 54 0.40 ardo Ar awg
2o (G258 AAFDeIT Goto?

Options :

| % 400K

AP EAPCET 2021



AP EAPCET 2021

300 K
273 K

4 v 533K

Question Number : 131 Question Id : 5447341411 Display Question Number : Yes Is Question
Mandatory : No

A gas deviates most from ideal behavior when it is subjectad to

60, TalnQ) BOdY Aot WS JT0H) BASHNT JHURM0 O BrHa

Options :

low temperature & high pressure

B
| o R Gl'ns 208010 I8, D DEDID

high temperature & low pressure
, . V53 600 B0y S8),D DEDIN

lugh temperatre & hugh pressure

25,3 edes 2oty IS DEDIW
3. % o 2

low temperature & low pressure

B2 S a0 Jobain By HEDAW
4, % "

Question Number : 132 Question Id : 5447341412 Display Question Number : Yes Is Question
Mandatory : No
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If the density of a 5 M solution of KC1 1s 1.26 g mI™". then find the molality of the solution.
(Molecular mass of KCI = 74.55 g mol™)

5 M. KCl grdtie Fredd 1.26 gml™" ¢ grace arerd ded?

(KCl eeaog3od = 7455 gmol ™)

Options :
0.74 m

1. %

Question Number : 133 Question Id : 5447341413 Display Question Number : Yes Is Question
Mandatory : No

Gastric juice contains about 3.0 g of ACT per liter. If a person produces about 2.6 liters of
gastric juice per day, find the number of antacid tablets required to neutrahze all the HCI

produced. Consider each antacid tablet confains 400 mg of Al(0H),. Given atomic masses:
Al-27,0 16 H-1,0l-355.

8 B> 200600 2Art 3.0 g © HCI & $BA dotiod. s 18 ws B’ 2,6 Do
2O06FR) 60\0 59, ¢ AXD) QPOT SuSBoD IN) BIEE Ardw
030607 PO BABB Ard 400 mg © AI(0H), D $BA Gotwoed. DOATR 3o
Al +27,0-16,H-1,Cl =355

Options:

1. % 8
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> u 20

3w 14

10

Question Number : 134 Question Id : 5447341414 Display Question Number : Yes Is Question
Mandatory : No

The bouling pomt of water at 1 atm is 100 °C. Which among the following 15 true for vaponzation of

water at 75 °C?
| atm nEHan 36 L) SRTEEE) ?a.:m 100°C. 75°C ¢ he ErOyB3R 2608 DA Dadn?
Options :

AGY

1 o B0vap =0

AHygy < O
W I:'I-'];-ﬂp = 1

4 % DSoap <0

Question Number : 135 Question Id : 5447341415 Display Question Number : Yes Is Question
Mandatory : No
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An ideal gas expanded ireversibly agamst 10 bar pressure from 20 L 1o 30 L. Calculate @ if
the process 1s Isoenthalpic. 1 L.bar = 100

10 er6 © DDA 56 w8 s, TabPi 201 et 30 L £ E’égtﬁnfd S, ¢ Ddab
2 omrdy& (domrby6’ Aoy G0). Q % 0800w (1L.bar = 1001)

Options :
0

1. %

10071
2. ®
. —100]
3. %

4 10 kJ

Question Number : 136 Question Id : 5447341416 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species acts as both Bronsted acid and base?

808 2rovd’” EPARE LiLaw MAr 0L FEAW MAr DI 36 V67

Options :

1, OH

, « NH;

x NacCl

, o HS0,
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Question Number : 137 Question Id : 5447341417 Display Question Number : Yes Is Question
Mandatory : No

Which condition among the followmg holds true at the stage of half-completion for the

reaction 4 = B?

= B b 10| dro Jr0 wand ¢35, & fod Nobdred’ D6 Judw ©PHSd”
Options :

8
1'#‘&{? =0

AGE < 0

AGS = —RTIn?2

4. %

Question Number : 138 Question Id : 5447341418 Display Question Number : Yes Is Question
Mandatory : No

Which of the following metals produces Hydrogen gas on reacting with cold dilute Nitric acid

00 220 FGTed EPE LS TaYHW &8\d Sabrv 6" & Bhd Ardeldd
T’ 087

Options :

1 = Al
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Cu

Question Number : 139 Question Id : 5447341419 Display Question Number : Yes Is Question
Mandatory : No

Which of the following pairs of reactions give H, gas as a product upon hydrolysis?

& Brbd Ardet)d dd}gﬂ 2088 2 2GS ) Sair adsen 2o S.'lﬁf‘qm 1:56505“ H,
TOINPA) WE GO ol DO\ G’

Options :
Hy0 _
a) Ba products {Eﬂjﬂim}
H20
b) BaO, — products (&3 e)
1. *
H20
a) Ca —— products (&d~Tyw)
b) CaH, — s products (&6
2) G ' 1 Ty B
2. % e e G i
a) K - products (&3 ew)
Ha0
by K0 products (GdaTm) e)
3. %

Ha0
a) Na —— products (G ew)

HaD
b) Na,0, — products (S mmy e)

Question Number : 140 Question Id : 5447341420 Display Question Number : Yes Is Question
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Mandatory : No

Boron compounds behave as Lewr’s acids because of ther

5’0 D) ¥, roIT (O™ DSBS SOe

Options:
electron rich i nature

3‘5&,‘1":}5:-11‘ aug“.'&m eS8 SOA Socoty JSUS
1. % '

electron deficient i nature

y &St,rhsw JUTDW oo (S'w) s
2. =

10NiZation properties

a0 Badw GG 0 S0
3. %

proton donating nature
4w TR0 orde Bt G6L0 DO

Question Number : 141 Question Id : 5447341421 Display Question Number : Yes Is Question
Mandatory : No

An morgame compound (A) made of two most occurring elements 1 the earth’s crust and used
in building construction when made to react with carbon. forms a poisonous gas(B) which 1s

most stable diatomic molecule, Compound (A) and (B) are

&> (16y5m6" DT B08 Lurvsud A6\ A e rvs dFad B0 YA 853
Ao s’ SHAIPREA. 6)0 & B6] 2803 B ¢ 2.8 A Ta) 26,6808,
B g8 Qcigaa BLROrmS O, A 200w B ) v S

Options:
| % Si0, ,C0,
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Si0,,CO
2.+

. Si0; N,

Eﬂﬂ ,fﬂg

Question Number : 142 Question Id : 5447341422 Display Question Number : Yes Is Question
Mandatory : No

Which of the tollowmg compounds are aromatic?

Lo8 ToedeS" DO AreS a&éﬁm D ?

oO0AQO

(i) (i) (iii) (iv) (v)

Options :

(i), (ii) & (iii) only
e D, () & (i) aredo

(if), (iii) & (iv) only
5 % (ii), (iii) & (iv) Srédo

(i), (iv) & (v) only
3 ¥ (i), (iv) & (v) araddo

AP EAPCET 2021



AP EAPCET 2021

(iii), (iv) & (v) only

4% (iii), (iv) & (v) drado

Question Number : 143 Question Id : 5447341423 Display Question Number : Yes Is Question

Mandatory : No

Identify the most suitable reagents (I) and (I1) for the following sequence of reactions:

H;C—CH;—IIZHE O, 0 g H,,t:—ﬁ:ﬂ—'.:u_1

Br Unsaturated Br

o = 208 AL STAVAM (1) 2baiw (1) i L) Sewi)an.

HiC—CHy—CH, n_ 0 L H,C—CH—CH,

Br ko080 Br
Options :

(1) = conc. H>504 (II) — HBr
(I) - & H,S0,  (I1) — HBr

(1) = aq. KOH (I} = HBr / peroxide
() = 2a0.KOH (/1) = HBr / borgye

(1) = ale. KOH (1I) — HBr / peroxide
. (1) - 30.KOH (II) — HBr/ ;:'TEJ‘E'

(I) — alc. KOH (Il) = HBr

4 (1) — =d.KOH (1) — HBr
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Question Number : 144 Question Id : 5447341424 Display Question Number : Yes Is Question
Mandatory : No

In Kjeldahl's method, organic *N" 1s estumated as
B DBOS', §6, D) VARG’ B LBATTT S SI0T T et

eV ST

Options:
Nitrogen

| BOwD

Ammonia

L2l e T s b

Nitric-acid

Nitrogen dioxide
DS fusd

Question Number : 145 Question Id : 5447341425 Display Question Number : Yes Is Question
Mandatory : No
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The major product(s) formed in the following reaction sequence is{are):
i) Zn/Cu, A

ii) 04
2, 3-Dibromobutane

jii) Zn/H,0
& 208 ﬁdﬁ&? DO DED GBS0 / Gy e

i) Zn/Cu, A
ii) Oy
2,3- 285 Ararss > 7
iii) Zn/H,0

Options :
1 % 2 CH3;COOH

> x CH3COCOCH;

5 2CH3CHO

CHO
2 HCHO + |
4. % CHO

Question Number : 146 Question Id : 5447341426 Display Question Number : Yes Is Question
Mandatory : No

In a mixed oxide of *A” and ‘B, ‘A" occupies all the octahedral voids while *B” occupies
(2/3)"™ the tetrahedral voids. The molecular formula of this oxide is

‘A" 206010 © aB Uﬁjé S A !9:)‘1 Ui’él.‘hl}ﬂ doredr, ‘B’ (2/3)d Jod d-ﬁ}ﬁ}éil
ColTUAr H8ibotdd). Ba0, & U3 aws), wmé'my.r
Options :
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A3B,04
A;BO;

AB,0;

Question Number : 147 Question Id : 5447341427 Display Question Number : Yes Is Question
Mandatory : No

A 25% solution of cane-sugar (mol mass= 342 g mol™) is 1sotonic with 5% solution of a
substance A. Then find the molecular weight of A”

25% 036 (wmdded =342 g mol™) grdeo, 5% A & grddo $BA &) D8
maned TerdSm 6)6. A dvg), SRVEHT T dods?

Options :

: 6.84 g mol™

, » 684 g mol ™"

5 x 25 g mal™t

684 g mol ™1

e

Question Number : 148 Question Id : 5447341428 Display Question Number : Yes Is Question

Mandatory : No
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Henrys law constant for €l in water is 1.67 % 10® Pa. Calculate the approximate quantity of
€0, n 500 ml of soda water when packed under 5 atm €0, at 298 K.

208 K 96 N 003 €0, 7R Moy oot Dewd 167 x 10° Pa. o &d'is o6
5 atm 5E3308 500 n] AS" 4803 (0, GITIN WATEIT T4 oided,

Options :

Question Number : 149 Question Id : 5447341429 Display Question Number : Yes Is Question
Mandatory : No

A hydrogen electrode 1s made by dipping platinum wire i a solution of nitric acid of pH= 9
and passmg hydrogen gas around the platmum wire at 1.2 atm pressure. The oxidation
potential of such an electrode equals V.

pH= 9 0 Erdmod’ 8o B god), &d dotar 1.2 atm Seded phiad TabodHay
DoAr, w8 FEBD aug'f.m doirddTd. o .'Jug&. o), 69886 THIaHe Dewd
v,

Options :
1% +0.059

, x —0.0531
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5 » —0.059

4 +0.0531

Question Number : 150 Question Id : 5447341430 Display Question Number : Yes Is Question
Mandatory : No

Salts of A, B and C were electrolyzed under identical conditions using the same quantity of
electricity. It was found that when 2.1 g of A was deposited. The weights of B and C deposited
were 2.7 g and 9.6 g respectively. If the atomic mass of A. B and C respectively are 7. 27 and

64, then the valancies of A, B and C respectively are

A (d6arm 303 7), B (d6arm ddord 27) dbatw ( (d6are dfo-d 64)
VOO w8 HOIVE” SWSAT 28 M@:ﬁ__}?ﬁﬂw &alrfiod) e IR LD
9 2.1 e A 96,430, 66 ddorr 2.7 rdwe B Sbakn 9.6mawe € 96,EA.
eand A, B ok € © doclrasdew v

Options :

%312

Question Number : 151 Question Id : 5447341431 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

The structures of XeF; and XeF; respectuvely are

NeF, &oboiy XeF, © .:lu-é'rrw adanrr

Options :

Linear and Square planar

- a%mmmmumam

Bent and Square planar
- Eriohy Do, £ 20808 DB BAGRA0

Linear and Tetrahedral

, 8Daidsw H0Botn eeuc), Daa
3.

Bent and Trigonal pyramuidal

L el Jompeasdon Hodoin SErlad Ararjsdaw

Question Number : 152 Question Id : 5447341432 Display Question Number : Yes Is Question
Mandatory : No

Which of the following represents the correct order for oxidizing power of the given species -
Cl0y ,Br0y and 10y

Clo; ,Bro; Sobain [0; © fwwd’ 26 uéjsm &mgéau B30T EHS

Options :
- claoy > Bro, > 104

, o Brogy > 107 > clog
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, x 105 > BrOg > clog

4w Bro, = cloy = 10,

Question Number : 153 Question Id : 5447341433 Display Question Number : Yes Is Question
Mandatory : No

When Sulphur 1s boiled with Na, 505, a compound (4) 15 produced. (4) on reaction with
excess AgN 0; solution gives a compound (B). which after dissolving m water produces a
black colored sulplude (). Identify the compound (4). (B) and (C).

2038 & NayS§0; & 3é Sotrr A o P20, ¥ D6100G. 4 088 AgNO; TonaS
36{ JoB B ey o) ¢Sy g, B & A" S8ADRIN C e dud
B E0A0/A RN, 4, B &batn mﬁ:lé#;ﬁ.ﬁum Stonrr

Options:
\ o Na25205, Agy5:05, AgaS
5 % N”ESG-"' Aﬂgﬂﬂ_q. Aﬂ;}g

3 % NHEEEG?. AH:JSG‘. HQES

4 % JI'Ur-I.'IESUE. AHESE}E, Agzﬂﬂd,

Question Number : 154 Question Id : 5447341434 Display Question Number : Yes Is Question
Mandatory : No
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The transinon metal m which of the following compound has zero oxidation state?
B Bl VIS’ DBIGH 6o ed 50m o Brdfo BONDA HBT

Options :
1 HE'CF-EDT

5w KMnO,

Question Number : 155 Question Id : 5447341435 Display Question Number : Yes Is Question
Mandatory : No

Among the following options, identify the one which exlubits the greatest number of oxidation states,
408 donsod’ o Marusd’ Baies udson Didow DB e Surusin

Options:
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Question Number : 156 Question Id : 5447341436 Display Question Number : Yes Is Question
Mandatory : No

Identify the condensation product of the following reaction:

R — CHO + NH,0H

208 DordD :ﬁnéﬁ‘ G A D 3T

R—CHO+ NH,0H

Options:
R—CH; — N

1. %

, « R—CH—NH(OH)

Question Number : 157 Question Id : 5447341437 Display Question Number : Yes Is Question
Mandatory : No

‘X" and 'Y are optically active 1somers having formula C: HoCl . When treated with one mole
of Hy. ‘X" gets converted to an optically mactive compound *Z°". but °Y" gives an optically

active compound *P". The structure of X and ¥ respectively are

CsHyCl wrdrdo or§ ym Feyse s, X, ¥ o 28 3rd H; § woj adomr X,
Z &3 Gydes Fdydso 268,003 ) ¥ard) Y60, R ¥, P e dyde 810
20500 ) ¥ D) 0,008, X, V v AT ST

Options :

1. %
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Cl

Cl

M&/\/Iﬂl\

Cl
2.+
Z Cl
3. % /\/\El ) M
Z Cl
4, % /\lﬂ/\ : A/\

Question Number : 158 Question Id : 5447341438 Display Question Number : Yes Is Question
Mandatory : No

Which reaction of ethanol will decolorize bromine water?

2SS cog), D 6o WD aerd) DIGSW Ba0?

Options:
CEHEGH + HByr ——— CEHEHF' + Ha{}
1. %
H+
2C,H 0 —— C;H, — 0 —C3Hs + H50
> % 413 K
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1
EEHEDH +Nﬂ EEHEGNE ‘|""L;"HEE]
3. %
H*
CEHEDH —_— E;H.;'i‘Hzﬂ
o 443 K

Question Number : 159 Question Id : 5447341439 Display Question Number : Yes Is Question
Mandatory : No

The major product of the following reaction 1s

&rbd ol ﬁdﬁﬁ‘ E]d:}ﬂ L e A

0
i) LiAIH,
i) D,0

Options:

s

3. =
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4.+

Question Number : 160 Question Id : 5447341440 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement 15 false?
BAH FD D DIBIIN B3Py ?

Options:

Only tollens reagent can oxide both aliphatic and aromatic aldehydes
05, sosan red MDIF0E ook FArss ebiré Sod8d wigten fud

Oxunes are less acidic than hydroxvlamine

5 o PSS DD o, B3 Dwen B8y.S ewer(d) s9A &d)d

Sodium borohydnde does not reduce carboxyl group
50,88 Dloab S0y F'dode 850 TrEl Sobscndn Sobda

D1 alkyl cadmium 1s considered supenior to Grignard reagent for the preparation of a
ketone from an acid chlonde

26 w2 §06 Aod 46rS Sairey Saoes’ B T8 SO S0t & WY S
 sdjato ) &3) SIBT DoAY
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